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7.

A Y

9. Whichoneofthe foﬂomngoonnnmnu&sconslstofBamu '

D). DISiCt caucanon Uineer "a b
The visitors who may visit around the R;oe farms are
likely

A Tounsts B. Teachers

C. Pastoralists D. Farmers

Anemometer is used to measure?

A Airpressure

B  Speed of the wind

C  Humidity

D. Ran

language group only?
A. Abagusii,Samburu,Abasuba, Wadigo

; Ve

1 1w AVIAV VIS AV WV ARGy /A ReR L /ARfiial e I AR T
citizen. Which one isNOT?
A. Obeyingthelaw

' B. Payingtaxes

C. Takingbribes’
D. .. Taking care of the environment

Vf A Member of County Assembly (MCA) may lose his

sorher civic seat when one of the following
“happens.Which oneisit? -

A. IftheM.CAis declared bankrupt by a court of
law.

B. Ifthe M.C.A isliving in the same ward

C. IftheM.C. Apaxﬁcipatwindevelopmentprojects

D. Ifthe M.C.A fights corruption.

B. Wasegejl;l,Aba]uh.yia,Abasuba,Wadigo 18. Whichofthe foilo mnglshkelytohappenwhcnthere
C. Al;alldihyla,Maasax,Iteso,Luo is no law and order?
D. Nandi,Tugen,Agikuyu,Akamba A. Goods will be cheap
10. One of'the following problems is related to B. Childrenwill go to school
population growth.Which oneisNOT? ° C. Business will go on well
A. Slow growth of industries D. There will be no development.
B. Highbirthrate 19. Whichoneofthe follomnglsauadmonalmethodof
= bserving weather?
C. Increaseinsocial evils o
D. Destruction of natural resources A. Placinga windsock inan open place
11. Howdoestheconunumtyeonnibutetothe B. Fnunganemometeroqhonzonmlums
development of the school? - C. Observingthesky
A Donating materials needed by the school - gn Smgg‘e wnguageug?ﬂBgloundcedb
B. Supervising teachers in the school ; . Oneofthe following 1s a problem experienced by
C. Ensuring good academic results are maintained. - visually impaired pemons‘%lnch oneisit?
D. Decidingontheenrolmentofthepupils: g’ Wu:mhi:ﬁm dors
- 12.  Inthe traditional African,why were girls and boys not Iking along _
ghtsomeiber?’. _ C. Reading their books
» D. Feeding
A.. Boyswerenot supposedtohearwhat girls were Pr A person invited by parties in conflict to help them -
B t!;mght. ddi kil : solve their problemis knownas
. DOYSWO smspectgu' > A. Administration ~ B.  Arbitrator
C. Girls would hate boys C. Solicitor D. Umpire =
D. Theyeachhaddifferentrolestoplayinthe 122, Areas which DONOT receive heavy rainfall buthave >
society. plenty of grass encourage =
* 13. Drugand substance abuse has all the following effects A. Pastoral farming B. Dairyfarming .
) to the society EXCEPT? - ' C. Miningactivity D.  Agricultural activity.
A. Reducing body’simmunity 23. Thepresence of mdusmasmanareagxmﬂy affectthe
B.  Unfriendliness and quarrelsomeness environment of an areain
| C. B:lotrénng lt;xllendlyandlovmg A. Pollutingthearea -
N D. Health problems B. Creatingemployment
14. Which ofthe following isNOT a chaxactenshés of C. Promoting internal relations
modified equitorial climate? D. Creates shortage of raw materials
A.  Receives convectional rainfall 24. The following are principles of democracy EXCEPT?
2 B i A. Nooneisabove the law ~
o Cl, "Twniatiy foeions B. Citizehsare involved inthe formation and running
T 'ID'hefEl(l) e benefits of poul farmviing, Whlch o -
B o 15}?31'11’%“ RACHIS0L PO ry C. Elections are held wen citizens feel is the right
g CEm::lol:lnzymmE ; D. Allpeoplearetreated . - ..., widnooneis
C. Improving the standard of hvmg discrirminated.
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 B. Tribalclashes

59.

60.

A Cmtmg good re)_aluons

C.  People accept peoples culture

D. Co-operation among the people

Which one of the following isNOT an objechvg: of

COMESA

A. To increase taxes to protect domestic markets

B. To create acommon market for member states

C. Toallow free movement of goods and people

D. To promote transport and communication among
the member states.

I..ackoflawaniorderhngsallﬂncfollomngEXCEP’I‘

A. Lossof property

B. Respectofhumanrights

C. Disrespectofleaders -

D. Creation ofemployment

C.R.E.

61.

62.

63.

65.

66.

67.

68.

69.

. C. Sarah

Human beings were created mainly to

A. Resemble God

B. Name the animals

C. Care for God’s creation

D. Havemany children.

God commanded Abraham to offer his sonas a
sacrificeinorderto

A. Cleanse his family

B. BeGod sfnend

D. Enter Canaan

When Moses was called by God,he was serving his
father In-Law by the name

A. Jethro | B. Haran

C. Abraham - D. Ammam

Joseph was made governor in Egypt because he?
A. Married Pharaoh’s daughter

B. Interpreted the prisoner’s dreams

C. Waschosen by the King

D. Interpreted the King’sdream

Which one of the following was used when God sealed

_ the covenant with the Israelites?

A. Smoke B. Fire

C. Thunderstorm D. Blood

The mother of Solomon was called

A. Rebecca B. Bathsheba

D. Elizabeth
Which of the following is a Historical book?

A. Acts B. Mark

C. Psalms D. Exodus ‘
“A voice is heard in Ramah,Rechael is weeping for her
children,” This prophecy was foretold by?

A. Micah B. Jeremiah

C. Isaiah D. Hosea

Elijah raised a widow’s son in the land of

A. Shunem B. Nain

C Sam/% N Soricwe

| 70.

Whlchnnportant eventwasta]ungplace when Jesus
was bomn?

- A. Passover feast

1.

72.

B." Festival of shelters -

1. C. Circumcision

D.. Census

Jesus was a refugee in? %

A. Canaan B. Nazareth
- C. Egypt D. Babylon

One of the followmg was assured by the Holy Spirit
that he would not die before seeing the messiah?
A'. Zachariah

B. Pmphet Simeon

C. John the Baptist

D. ProphetessAnna -

John was not willing to baptizg Jesus mainly because

~ A. He could baptize with fire and the Holy Spirit

74.

B. He was greater than Him

C. He came from Heaven and had no sin

D. Hewasapowerful King

Which parable teaches christians about wealth?
A. Therichmanand Lazarus

B. Thegood Samaritan

 C. Thefriendatnight

1+ 75,

76.

Tl

78.

79.

80.

D. Thesower

- Whichefthe follomng mu'acle shows Jm has power

over nature

A. Healinga paralysedman

B. Raisingof Lazarus

C. Feeding the five thousand people

D. Driving out demons from Mary Magdalene.
Jesus prayed until His sweat turned into blood. This
happened duringhis

A. Armest.

B. Death

C. Temptation

D. Crucifixion

Happy are the peacemakers for the shall?-

A. SeekGod B. Obtainmercy . ®
C. Inherittheearth D. Be called sons of God
Which one is a gift the Holy Spirit?

A. Humility . B. Faith

C. Patience D. Peace ~

Jesus blessed his disciples and was carried to heaven

_at a place called?

A. Bethany

B. Jerusalem

C. Sidon

D. Nazareth

Appollos from Alexandria was talented in
A. Leadershlp

B. Singing

64 SpeakmgGod s word

- D. Ar

81.

Which one Shows that Africans knew God before the

AR 5 % SPUR, g




82.

83.

84.

85.-

86.

87.

88,

89.

©90.

~ Society.

A, Wiestling

- C.  Reading magazines

 C. Assistthe governmentmbuyv eapons

coming of Christianity N 1 »34

A. Baptism of people

B. Memorising scriptures
C. Sharing sacraments

D. Presence of shrines 2

Which one is not a rite of passage in Tradmonal African

A. Birth

B. Naming
C. Marriage
D. Initiation .
Which is acommon belief between Traditional Afncan
Society and christianity. They belief m‘7

2
s FRYE-TT N

A. Spirits
B. Charmsand Amulets
C. Diviners

D. Resurrection-
Which leisure acnvny was not practxsed in Traditional
African Society - : :

B. - Communal dances

D. Beerdrinking

Mr James Mwangi is a bank manager.He came from a
very poor family.He assists pupils from poor families to
attain Education. Wthh value-does he: show?

A. Unity
B. Responsibility
C Chanty ' . ; -

If a friend stops talkmg to you because youquarreled
her over a textbook she lost.The best thmg todois?
A. Seeknew friends -

B. Tellherthei nnponance of forglvmg

C. Avoidher

D. Tell the parents

The best way to spend your leisure time is to

A. Visitfriends

B. Watchafilm

C. Attendawedding

D. Cook for your grandmother

If you are given two thousand shillings by your mother
as a present how best can you spend it?

A. Deposit in the home bank

B. Share with friends

C. Buyashirt forastreet child

D. Go foranight-club

Mary your classmate lost your geometrical set.As a
christian you should? '

A. Reportto the parents

B. Demand for payment

C. Jointhe nextclass

D. Planto beat her

Al-shabaab are currently a teérror to our country. What
is your part as christianand a cmzen‘7

A. Jointhearmy

B. Pray for God’s protection

D. Escapeto nelghbounng countric

&
¢
i
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Use the map below ta_4;nswer guesttons 26-30

Which of the followmg isNOT anarm of the
govemment"

A. TheLegislature

B. Theexecutive

C. Thesenate

D. The Judlcxany. ‘ »

.

6> The mineral mined at P is used for all the following

2.

28.

29..

30.

31.

- EXCEPT

‘A, Strengthening steel

B. Making tooth paste ..,

C. Inoilrefining

D. Inmaking water filter

The leader of the kingdom marked N was
Nabongo.He had succeded" :

A. Nabongo Shiundu

B. Nabongo Wamukoya

C. Nabongo Wamukoya Nela

D. Naboggo Osundwa.

Who among the following people did NOT mxgtate to

Kenya through route ‘marked B?
A. Akamba B Wadamda
C. Abakuria D. Agikuyu
Idenufythetown marked Z ;
 Mombasa B. Mandera
- Marsabit D." Moyale

The regwnmkedibé(mmalumde raising
from fo ‘

A. 0-300maboves;a1evcl
' B 200m- llOOmaboves&ievét

_1,000m-=2200m above sea level A
D. 2200m-5000m above sea level

 The following are ways of building positive attltugie

towards people with special needs EXCEPT
A. Discriminating them

B. Talking positive about people

C. Encouraging them to use their talents
D. - Appreciating their abilities and interests

38

133,
|34.

135.

137.

-;f, 130.

36.

40.

@ Th; Kingdom of Ghana was attacked by Muslin s from

the North because

A, They wanted to take over the Kingdom

B. They wanted to control trade in the area

C. TheKingdom had become small and weak

D. The king had grown-old

Joseph is married to Winnie and Lucy. The family has

five children. What type of family do they represent?

A. Extended family -

B. Polygamous family

C. Single parent family

D. Nuclear family

Which of the following does not mﬂuence population

distribution in Eastern Africa?

A. Establishment of game parks

‘B. - Insecurity

C.. Newtechnologies

D. Relief. ‘

The first European missionary arrived in Kenya in 1844

and established a mission at

A. Mombasa B. Naxrob:

C. Rabai ' D. Tumutumu

Which one is NOT a reason for respecting human

rights?

A. Ithelps inrespecting humanrights

B. Itdenies freedom of expression and opinions

C. Itensures gender equity

D: Ifleads to a more unifed'sGtiety as people are

free to associate and share ideas.

Which of the following factors DOES NOT influence

distribytion of population? -

A. , Warand conflicts

B. Urbanisation

C. Industrialisation

D. Govemment policy \
Which of the following statements explains the
importance of mamriage institution? = .

A. Ensure the continuity of the clan and commumt)

B. Promote divorge in marriages

C. Promoteimmoralityinthe mamages

D. Promote tribalism

Which of the following factors DOESNOT promote

peace in the society?

A. Denyingpeople their rights

B. Being fairtoall people

C. . Listeningto otherpeople s oplmon

D. Usingtheruleoflaw

Which of the following pastoral pmblems is faced by

the Tswana?

A. Qvergrazing . .

B.  Shortage of pasture dunng the dly season
C.  Attack of cattle by wild ammals

D. Pests anddrs/eases




41.

42

43.

What is mob justice?

A. Wrongful arrest of persons

B. Iswhena personis arrested and charged bya
mob -

€. Istommngasuspectmcellstomakethemadrmt
mistakes. -

D. Isdiscrimination against because of tribe.

Aclanusually growsthrough ~

A. Spiritual and religious leadership

B. Population increase

C. Educationand marriage

D. Gamesandsports ~

The earth rotates from to
A. Northto South B. WesttoEast
C. Southto West D. - Eastto West-

Use the map below to answer questions 44-48

45.

46.

47.

. The ocean currents of Africa marked K is?

A. Mozambique warmcurrent
B. Benguelacold current

 C. Equatorial Guinea warm current

D. Canary cold current
The river project marked m is developed fromthe Dam
known as

A. Cabora BasSaDam ‘B. MasmgaDam

C. AswanHighDam D. Akosombo Dam
Which of the countries marked J,X,Y and Z was NOT

colomsed by the Gérmans? -
AT C Bs X
C. Y DL’

The Kingdom marked F above R.Senegal and R. nger
was founded by

A. Sonike people
C. Yoruba people

B. Fulampeople _
D. Songhai people

4s.

 49.

50

31.

32,

53,
_and protect them from misuse and destruction is called

54.

25

56.

57

Which of the following is not a difference between the

country marked Qand Kenya?

A. Thehead of state rules for a maximum period of
ten years

B. Theléadership of the country is heriditary

C. - The country has two paliaments

D. Thehead of state appoints the prime minister.

The believe by the Maasai that their ancestors were

dropped from heaven in theory of creation.

A. Mythical® B. Evolution

C. -Creation 'D. Development

Which of the following is NOT a benefit of African

A. Ithas promoted unity among people

B. Ithas promoted economic development

C. " Ithas promoted political development

D. Ithaspromoted nepotism.

The Kenyan constitution is important because

A. ltpromotesunequal development

B. Itencourages human rights abuse

'C. Itspells out how citizens should be governed

D. Itpromotes gender discrimination

Nabongo Murnia was made a paramount chief by

A. TheAbawanga B. TheMaasai

C. ~ThreBritish D. TheMuslimtrader
Activities carriedtut to encourage good use of soils

A. Contour ploughing

B. Temacing

C. Controlled ploughmg

D. Soil conservation.

The following are condmons necessary for growthofa
certain crop

(i) Moderate rainfall of 600-1000mm

(i) Low lying areas with black cotton soil

(iii) Dry weather during ripening and harvesting
(iv) Alot of sunshine during gmmng perlod
Which crop s it?

A. Wheat B . Tea

C. Cotton D. Flowers

The following are ways of protectmg chlldren from
abuse.Which oneisNOT? .

A. Creating employment for children

B. Parents mistreating their children

C. Reporting cases ofcml,dabme to authontles
D. Ca:mmgchxldmn. '

Which one of the following is NOT asea fish

A, Mullet B. Trout

C. Tuma D. Kingfish

How long does the earth take to rotate on its axis?
A. 12hours . "~ B.” 365 1/4 days
C. 30days D. 24hours

: Which of the folloWing is NOT a benefit of interaction?
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ASSESSMENT TEST MID TERM 12015

nafasi umgewa maneno. hapo chini. Chagua neno
lifaalo zaidi kulaza nafasi.

Nidhamuau. 1~ nijambo__ 2 nahususankwa
_ mwanafunzi ambaye 3 kuendeleambele namasomo
yake. 4 na___ 5 __ wasiku hizi wameingiwa na

kasumba ya wazungu kutokana na yale wanayoona kwenye

____ 6" nakusikiliza kwenye redio. Wanafunzi wote
wakumbuke kuwa mwacha 7____nimtumwa.
1. A taadhimu - B. taadhima

C. azma ' D. azimia
2. A B. asisi

C. asasi D.hasidi
3. A. anmzmu Banaazxmla

. C. -anawaziana ~ D.azimisha

4. A. Binamati B. Benati
C. Banati D. Binti
5. A. mababi B. mabwana
C.  shababi D. mabwega
6. A. matangazo B.hewa
- 'C.  idhaa D. ngamizi
7. A ol Basali
C. adl

D. nzimisho

Ni hivi juzituliposhuhudia 8 mingi ya wanafunzi
_ 9 shulezaupili. Uchunguzi uliofanywa na washika
10 katika 11 yaelimuunadhihirisha 12
shahmkuwawanaﬁmznwanahakmauhumwakmkuhzwa
_13_mikasamingiya 14 - motokatika 15 yao
sio njia bora ya kuelezea malalamiko yao.

8. Akikomo B. mgomo
C.mikosi . D.migomo
9.  Akwenye B.kwa
~ Ckatika " D:katikati
10. Adua B.dau
" C.doria D. dohari
11. Aschenu P. sakafu
C.sekta - . D.upande
12.  Adahili - B.dhahin
' C.dhati Dila
13. A.ngawa B. ikawa
C.ilhali D.ila
14. A.kuteketea B. kuteketeza
' C.kutekeza = D. kutekwa
15. A.bweni B. mabweni
~ D. mabehewa

STD 8 KISWAHILI

21.

{22.

25. .

C.behewa

16. Elezamaanayalsmaralflmayo
Dawaaliyonipailikuwa shubiri
A. kali sana B. Tamu sana
- D.chachu sana
17.

C. Buriani D. smile

Ni sentensi ipi iliyo katika ngeli ya U-I

A. Matakia yametiwa foronya

B. Nyua zipi zilizopandwa maua mekundu
C. Mabele yakuku yamekatika

D. Miereka inasemekana ni michezo mibaya
'Andika katika usemi halisi
Ahsemakuwaang&somaangefaulu

A “Nikisoma nitafaulu”

B. “Ningesoma ningefaulu”™

C. “Nilisoma nikafaulu”

D. “Nitasomanitafaulu”

Chagua jibu lenye msamiati wa mekoni pekee
A. kuinjika, kuepua, kuchuma, kutokosa

B. kuteleka, kusonga,kukanza,kuvumblka

18.

19.

20.

'Stadlmkwagm’ji,lémmvireghmmm o
A. husuni B: hzni

C. korokoroni D. kizimbani
Ukumbwa na wingi wa:
._Mguuwakenhuguabaadayakuumwanambwa
A. Kiguu chake kiliugua baada ya kuumwa na

kijimbwa
B. Gmlakehhuguabaadayakmunwanapbwa
C: Maguuyaoyahuguabaadayakumnwana
majimbwa s

D. ngmlvyaowhugmbaadayakmmwamvunnbwa
Chagua kielezi katika sentensi

* Gari hilo linaendeshwa polepole
. A. Linaendeshwa - B.hilo

C. polepole Dgari
Chagmsentenmhyoumua“lm”yamﬁﬂuhm

A. Mchoro,umechoreka vizuri

B. Wahubnwa,mkapom,wakaﬁlﬂnnu

C. Kamwambie Jeni aje

Jazapengo
-Alipewa__ akapelckakwenye yake
Al panda,banda

B.mchimji - :

D. kibovu, kipovu



26. Anayeimba mashairini_
A. lakabu B. manju
C. malenga D. mghani :
Jina analoitwa mwana wa mwisho kuzaliwani_
A. mwanambee B. mziwanda
C. mnuna . D. kiningina
Chagua msamiati wa wadudu pekee
A. kelbu, njiwa, tekenya,nge
B. kulastara, shakwe, heroe, mumbi
C. Nyenyere, sungusungu, ndorobo, utitiri .
D. Tohe, ngawa, kanu, nguchiro
Njia ya sayari, hujulikanakama___
~ A. sarteni B. falaki _
C. minhi D.zuhura
Nyambua katika kauli ya kutendesha
A. ogofya B. ogopea
C. ogopewa D. ogopwa
Soma taarifa hii kisha ujibu maswali 31-40
Ilisemekana kwamba mfumo nipya wa elimu uhoanzj
kutekelezwa mwaka wa 1985 ulihimiza stadi katika ain
mbalimbali za utendaji na ufundi. Ulidhamiriwa kuwafanyal
wahitimu wote kuweza kufanya kazi na kujitegemea baada|
ya kumaliza shule. Ulikuwa mkakati wa kusuluhishia tatizo la
ukosefu wa kazi. Hadharani; hasa siku ambapo walimu|
waliwahutubia wanafunzi wote, au siku za mikutano baina)
ya walimu na wazazi, mfumno huo ulisifiwa sana. Ungeondoa)
kasumba ya kupendelea kazi za ofisini na kuchukia kazi za
~ mikono. Ungezahshakan nahivyo kuharakisha maendeleo.

Ungeweka msingi wa uwandaishaji wa_ nan Sifa zake
zilinyesha kama mvua ya masika.

Lakini s1kumo;amhpata fursa ya kupata mawazo tofauti.

-

27,

28.

29.

30.

Ilikuwa katikati ya mwezi wa Juni, wiki mbili baada ya} -
kupokea zawadi yangu ya utu uzima kutoka kwa Jamila.]

Nilikuwa nikikata nyasi karibu na nyumba ya mwalimu w
wa hisabati. Hiyo ilikywa adhabu niliyopewakwa
kurudi shuleni baada ya kutoka kwenye maadhimisho
siku ya Madaraka. Adhabu hiyo ilikuwa imechelewesh
kwasababu naibu wa mwalimu mkuu- ambaye alisi i
mambo ya nidhamu ahkuwaamepotezaorodhayawamﬁmz:
‘waliochelewa.

Sote tuliochelewa tuliomba asiipate, lakini kwa bahati
mbaya akaja kuipata. Wanafunzi ishirini walipewa adhabu
za aina mbalimbali: kufagia, kukata nyasi, kung’oa visiki
kuosha sakafu za madarasa. Adhabu ilitegemea kiwango
cha kuchelewa. Mimi nilipewa adhabu ya kukata nyasi k
sababu nilichelewa kwa nusu saa. Nilifika shuleni saa kumi
na mbili. Sikujitia kuadhibiwa kwa kuchelewa siku hiyo.
Kama walioniadhibu wangejua nilivyokithamini nilichokuwa)
nikifanya wakati nilipochelewa, wasingejisumbua kuniadhibu.
Ningelirudia “Kosa” hilo mara mia kama ningepata fursa.

Mwalimu wa sanaa na kazi za mikono alitokea upande
wa jengo lautawala akanikaribia. Nilijitahidi kukata nyasi ili
asifikirie nilikuwanazembea. -

“Kerogo umefanya nini tena?” aliniuliza.

“Nilichelewa mwalimu”

“Siku ya Madaraka eh?”

“Ndiyo mwalimu” .

SWEFL T AR WS e

~ “Ulichelewa wapi?”
“Nyumbani,” nilimdanganya.
_ “Kwanini ulikwenda nyumbani?””.
* “Kuomba pesa za kununulia kalamu™
“Usichelewe siku nyingine uloruhusawa kutoka shuleni”
“Ndiyo mwalimu”

Alipita,akatembea kuelekea mlango wa nyumba va
mwalimu mwenzake. Alibisha mara mbili akafunguliwa.
“Karibu sana mwalimu Bosire,” mlusﬂna sauti nzito ya
mwahmuKemgalkxsem
~ “Ahsante. Habari za leo? ,

“Ahkazitu. Kusahilnsannamalnnmhnnwamadaﬁan"

Lazima niubomoe.”

Niliendelea na kazi yangu. Nilikuwa kanbu kumahza
Seheru iliyobaki ilikuwa karibu na maua yaliyokuwa mbele
ya nyumba. Nilipofika hapo, ndipo niliposikia, “nane-nne-
nne” nikavutiwa

“Ovyo kabisa mambo yanayofanywa katika nchi hii
iliyolaaniwa.Kila kitu kinafanywa kama kwamba kuna
dharura. Haya mambo ya 8-4-4 yangepangwa vizuri. Shule
zipewe muda wa kujenga karakana, maabara na zinunue vifaa
vya kutosha,” mwalimu Keruja alilalamika

31.  Mfumompya waehmu uhota_;wauhkuwauwasmdxe

wasomi
A. kwa kuwa walaghai
B. kupatasuluhlshowanapotaﬁnakazn
C. kupatakazi yakiofisi
" D. wasifanikiwe maishani
Kulingana na aya ya kwanza mfumo wa elimu
uliotajwa
- A. Ungewafanya wanagenzi kuwa goi goi
B. Ungewafanya walimu wawasahau wanafunzi
- C. Ungeifanya nchi kuzoroteka kifedha
D. Ungekuwa na manufaa makubwa na kuikuzanchi
Sifa zake zilivuma kama mvua ya masika, masika ni
kipindi cha o
A. chamvua chache
- B. chabaridikali
C. mvuanyingi
. D. chamvuailiyonyesha mwenwaDlsemba
Mwandishi alisema aliadhibiwa na mwalimu kwa
somo la hisabati. Somo la hisabati ni
A. Hesabu - B. Ung’eng’e
C. kwata - D. sayani kimu
- Adhabu aliyopewa mwandishi na naibu wa mwalimu
mkuu ilicheleweshwa kwasababu 5
A. Tlikuwa nadra sana kumpata mwalimu mkuu shulen:
B. Naibu wa mwalimu mkuu alikuwa na orodha ya
majina ya waliochelewa A
C. Nalbuwamwalnnuxrﬂ(uuahkuwahluzom
D. Naibu wa mwalimu mkuu alikuwa amepoteza
orodhaile

32.

33.

3s5.




37,

40.

Adhabu walizopewa wanafunzi zilikuwa nyingi kama

vile kuosha sakafu za darasa ni sawa na

A. kupigamtindi

B. Kupiga deki

C. kupiga moyo konde

D. Kupiga chafya ,

Kulingana na kifungu ni kweh kuwa

A. Mwandishi amesema wazi kilichosambisha
kuchelewa kwake '

B. Mwandishi hajaelezea sababu ya kuchelewa

C. Mwandishi alichelewa kwa saa mbili

D. Mwandishi hakupewa adhabu yoyote ingawa
alikuwa amechelewa

Mlima uliokuwa ubomolewe kama v1le mazungumzo

baina ya mwalimu Keruja na Bosire ulikuwa

wa v

A. mlima uliokuwa karibu na shule

B. vitabu vilivyostahili kusahihishwa

~ C. madaftari mapya yaliyonunuliwa yapewe wahmu
. D. mlima ulistahili kubomolewa kwa kutumia jembe

Maneno ambayo yamepigiwa mstari kwa habari kila

kitu kinachofanywa kama kuna dharura

yanamaanisha?

A. mambo yamefanywa na yamelaaniwa

B. mambo yanayochukua muda mrefu kufanywa
nzima

D. Mambo yanayofanywa kwa papara

Kulingana na kifungu mwandishi alikuwa

A. Mtiifunamwenye nidhamu :

B. Mwanafunzi bora kuliko wote

C. Mdanganyifu na asiye na nidhamu -

D. Mdangayifu na piamwehu

'Soma shairi lifuatalo kisha ujibu maswali 41 - 50

Baba na mama salamu, nyumbani nawatumia ,
Siwez kupiga simu, nipo mbali na dunia
Bila shaka mwafahamu, jela natumikia

'Sina wa kumlaumu, niliyataka mwenyewe

Vipi hapa nimefika, bila shaka mnajua
Nitakaa kwa miaka, gereza likinilea

Tayari nimeshachoka, tabu zinanisumbua -
Sina wa kumlaumu, niliyataka_ mwenyewe

Nlhpoﬁka mjini, nadhani nilikosea
Nikaingia kundini, watu nisiowajua

- Wakanikalisha chini, elimu kunipatia

Sina wa kumlaumu, niliyataka mwenyewe

Tukaingia sokoni, wakaniongoza njia
Nikaenda kwa amani, wao watashambulia
Nikiwekwa hatarini, wao watanisaidia
Sina wa kumlaumu, niliyataka mwenyewe

1

41.
42,

43.

45.
- A kinga nakinga moto huwaka

46.

47.

48.

49.

50.

Shairi hilinilabaharigani? -
A. Tathlitha B. Tathnia

C. Tarbia D. Takhmisa
Kila mshororo wa shairi hili lina mizani

A. kami nasita B. kuminanne
C. kumi na saba D. kuminatano
Utao wa shairi hili ni’ L
A. ia B. a,we

C. a,wa. D. mu,we

Mshairi anasema nini katika ubeti wa pili?
A. anapiga simu kwa baba na mama

B. aliingja katika kundi la watu asnowajua

C. atakaa gerezani kwa miaka mingi

D. aliingia sokoni na kundi likamwongoza

Ni methali ipi inaweza kuelezea shairi hili

B. mchuma janga hula na wa kwao

C. ajidhaniaye kasimama aangalie asianguke ~

D. asiyeskia la mkuu hufikwa na makuu

Mshairi anasema alikwenda wapi na wenzake
A.sokoni B. myjini

C.nyumbani D. benki

: anatoa ujumbe gani kwa wavyele wake
A. anaondoka lakini atakumbuka ushauri wao

B. anawashukuru na kuahidi kufuata ushauri wao

C. anawaeleza yuko mbali na dunia hawezi kupiga -

simmu

D. anahuzuni ya kuwaacha kwa mema waliomtendea
Mkardra wa shairi hili ni upi?

A. nilipofika mjini, nadhani nilikosea

B. sina wakumlaumu, niliyataka mwenyewe

C. nikaenda kwa imani, wao watashambulia

D. wakanikalisha chini, elimukunipa =
Anayemmgumzakankasham anawezakuwanaumn
wa miaka kati

A. Tisa hadi kumi na mmoja

B. Kumi na minne hadi kumi na mitano

C. Arubaini namiwili hadi sitini namitano

D. Ishirini na miwili hadi thelathini na mitano

Kichwa kinachofaa kwa shairi hili ni

A. Wazazi waliomleanamalezi

B. Kijana aliyewaheshimu wazazi wake

C. Kijana aliyejutia matendo yake

D. Wazazi walioenziwa na kijana wao




GATUNDU SOUTH DISTRICT

ASSESSMENT TEST MID TERM 12015

- STD. 8 ENGLISH

Read the Qaganges below and fill in the blank sggces
- by choosing the most appropriate alternative

One evening father came home from the office _1
proud of himself.

“Come outside,”he 2 . 2 _to the family.” I’ve got some-
thing special to show you.”

My mother, myself, my sister and my five-year-old brother
all followed him outside . Father _3  toanold grey car
parked outside the house and leaned 4 the wmg, smr]]mg

5 . Wewere speachless |

“Doyoumeanit’s_¢ ?”asked mother.

“Yes, | brought it from a friend at work.” “I think 1ts a
_7__ car,” said mother, opening the front door.

We children needed no further 8 . We were inside  D. Four-legged, small, circular
ina flash. For questions 19-21, select the alterngtive that
Beingthe_ 9 _,Isat behmdthestecnngwheel and, pre- |means the same as underlined '
tended,] 10 _the Safari Rally. My little brother played | 19-  Thelights faded out and so the play ended
withallthe 11 _and soon had the windscreen wipers go- A.dnmhed
ing. My sister leaned overmeand __12 _the horn. B. vanished
- e C. melted away
vy D.blottedout :
g observmgl 20. Aminasaid, “Ileft my book here two days ago”
: B. ordered - A.Amina said she left her book here two days ago
siicacliondad ‘#& B Ammasaldthathehadleﬁherbookheretwo
A " B. wentover ] % < -daysago- -
C. D. went ahead ) C Amina said. that she had leﬁ herbook there two -
A. B. on days ago :
C. D.upto D. Amina said that she had left herbook there two
A. B.foq]is‘hly ' days ago
i- g- ?:Sdsly 21.  They periodically flies outof the country
€. D. our’s g g “3 ‘ :
A. B. better C o
C. lovely D. best -~ sometimes
8. A waming B.encouragement : D. always ]
C. ternptations - D. thought In question 22, choose the best answer to fill in the
9. A. eldest B, elder gap : ;
C.. adult & D. oldest 22. - Idarenotdoit,
10, A. waspartaking B. was partaking of . A.won’tl? B. willlI?
C. wastakingpartin  D. entered C.doI? D. Shall I? _
11. Al controllers B. scrotches 23. Arrange the sentences below to form a sensible .
C. gears D. keys paragraph : :
12 é- g{g:v" g- m";‘;dwn - (i) A part from the few workers who had to catch

Twelve bridges wereswept___13 by floodsin
various parts of the country following heavy rains last

~ week. The 14 affected district was Kisii, where six
- bridges 15
13. A off B.away
C. down D.over
14. - A.  least - B. badly
' ~C. worst - ‘D. poorly
15. A. washedaway B. washed off
C.. werewashedaway - D. were washed off'

1 vey

For questions 16 - 18 choose the best answer to
complete the sentences

16.

17

18.

o AL, v, il iV

Theboywasseated____his grandfather
- A. besides B. beside
C. around D.among
She has been writing that book . August
last year. —
A. since’ B. from
C. until D. when
Richmond carried a stool
-+ A. four-legged.circular, small '

B. small, four- legged, circular

" C. circular, four-legged, small

the early bus to Nirobi, I met no one.
(ii) Tleft the house and walked towards the shop
sweeping my feet through the dew on the grass.
(iii) Then as I approached the shop at the centre of
the village I stopped. -
(iv) I went over and peeped inside
(v) An old tent had been put up rather carelessly.
B. iii, v, i, i,1v

C. iv,ii,V, 1, il D.ii, 1, iii, v, iv




——— g — i v— -

Kor questions 24-25 choose the b'est'answer to

complete the sentences
24. Monyaka advised them to save

- every month for a rainy day
A. little B. alittle
C. any t D.afew
‘We - | for halfanhour whentheteacherarnved
A. had been waiting
B. hasbeen waiting
C.are waiting
D. had waited _
Read the passage below and then ans!ei' guestions
26-38
A long time ago,there was a small boy called Juma who
lived with his mother and sister Chelo in a small village on
top of a hill. Chelo used to help her mother with the house
chores, the most difficult being to fetch water from the river
inthe valley below. '

_money.

25.

As Juma grew up, he began to drink large amounts of |-

water and hardly ate anything. Infact his mother and sister
used to go to the river five times a day to satisfy his thirst.
This went on until Juma grew so thin that his legs could barely
support him. The mother became worried and decided to
consult the medicine man'who gave some medicine to make
Juma drink less water and eat more food. This, she thought,
would solve her problems. And it did, at least as far as the
endless journeys to the river were concerned.

- Asthe medicine man had said, Juma hardly dmnk water
aﬁertakmg the medicine. Instead he started eating. He never
seemed to satisfy his appetite for food and he not only fin-
ished the food in his home but ate whatpverthe villagers had
in their stores. The more he ate, the bigger he grew. Soon
. the villagers had to do something before they starved to death.

They went to the chief to hear what solution he would offer.

" The chiefordered everyone, including Juma’s mother, to
_vacate the village at night while Juma was asleep. Though

Juma’s mother was unhappy about leaving her son, she had

to do what the chief wanted. -
- * Afterthey had travelled to some distance, Chelo realized
that she had forgotten her necklace, a gift from her grand-
mother who had died a few months earlier. People discour-
aged her from going back because they did not want Juma
to find out their secret plan but she went all the same. Only
her moth® waited for her hoping to hear news about Juma.
On reaching the village, Chelo told her brother what had
happened and promised him that she would not leave him.

She took her necklace and as she was putting it on said, “I
~ wish mother was here,” Suddenly their mother appeared. It
was then Chelo remembered what her grandmother had told
her. This was amagic necklace that would give her whatever
she asked for. The first thing that Chelo asked for was that
Juma should eat less food. From then onJuma stopped eat-
ingtoomuch.

~ | When the villagers who had ran away heard what happ. 1ed.

they came back to their homes, but the chief refused to re-
turn because he'did not believe that Jumahad changed. The
villager’s chose Jumaas the new chlef and were all happy
' with his lmdershlp
26. Whichone of the followmg words could be used
instead of word ghgres in the first paragraph? .
A. duties
B. cleaning
C. difficulties
~ D. responsibilities -
The passage tells us that at one time Juma’s “leg
could barely support him” What was the reason
- forthis? _
‘A. He was very fat from eating too much food
B. Hewasverythmﬁomeanngtoohttle food
C. He was very fat from drinking too much water
D. He had been given bad medicine
According to the passage, “endless journey” means
A. tiring journey :
B. slow journey
C. long jourmey
D. many journey
What according to the passage, had caused Jumato
growthin? .-
A. eating no food at all
& dnnkmg too much and not eatmg enough

27,

28.-

29.

D wtmghtﬁe food and drmkmgnon watér
What results did Juma’s mother expect ﬁom her visit
* tothemedicineman? - _
A. Juma would become a normal boy
B. Her journeys to the river would stop
C. Juma would stop drinking water
D. Juma would stop eating too much
31. Thepeople left the village because they
¢ A. were tired of fetching water
B. did not have a good medicine man in the village
C. were afraid of starving to death "
D. wanted to be with their chief ‘
The villagers dlsoouraged Chelo from going back
because they
A. had gone too far '
B. did not want to hear news about Juma
C. feared the magic necklace . i
D. did not want Juma to follow them -
Which one of the following is the mson why vﬂlagers
went to theirhome?
- A. they wanted to ‘see the magic necklace
B. Juma was now a strong man
C. they wanted to make Juma their chiet
D.there was no danger of dying from hunger . -

f

30.

32.

33.



34. Which one ot the tollowing statements is NO'| true

according to the passage?

A. the villagers starved to death

B. the necklace fullfilled Chelo’s wishes

C. the'villagers were obedient to their chief

D. Juma’s mother loved him

35.  Which one of the following shows the order in which

the events happened in the story? ,

A. Drinking much- eating much-taking medicine- -
finding necklace-Juma made chief

B. Eating much-taking medicine-drinking much-
finding necklace-Juma made chief _

C. Drinking much -taking medicine-eating much- -
 finding necklace-Juma made chief _

D. Eating much-finding necklace-taking medicine-
drinking much- Juma made chief

~ 36.  Which proverb can be used to describe the

relationship between Juma and Chelo?
A. Empty vessels make the most noise
B. Every cloud has assilver lining
C. Hurry hurry has no blessings .
D. Blood is thicker than water
37. The word satisfy is underlined in the passage. What is

its opposite
A. lure B. contented
C. dissatisfy D.

.38.  Whichoneof'the following is the best title for the

story?
A. The foolish chief
B. How Juma became a chief
C. Farmming in the village
D. Chelo’s grandmother
Read the following passage carefully and answer

questions 39-50
A few weeks ago, a colleague told me tlus story. Her -

son was not feeling well so she went out in search of
late night pharmacy. As she waited in line, an impatient
man walked waving a one-hundred shilling note at the
pharmacy attendant saying, “Antibiotic please.” When
asked the antibiotic he wanted, he shouted, “ The one that
I can buy with a hundred shillings.” And sure enough, the
man recieved a few tablets of some antibiotic and left the
pharmacy without another word.

There are a few problems with this scenario. First the

~ man was able to obtain an antibiotic without a doctor’s

prescription which is a direct contravention of the Phar-

. macy Act.The pharmacist did not even ask what type of
. condition the man was trying to treat. So it is not clear how
he settled on that particular antibiotic. Based on the

amount of money the man had, it is likely that he did not -
receive an adequate dosage to cure whatever ailment he
had. These factors are among many that contribute to a
phenomenon known as antibiotic resistance.

Antibiotics are powerful drugs that fight infections

caused by bacteria. 'loday, a large number ot bacterial
infections worldwide are becoming resistant which means
that they do not respond to garden variety antibiotics. Asa .
result, stronger antibiotics in combination are being em-
ployed to fight infection. Scientists warn that a time may
come when some bactenal will be COmpletely resistant to
all antibiotics.

When a person is infected with antibiotic re51stant '

| bacteria, treatment becomes exuemely difficult. The result -

can be longerand more comphcated xllness more doctor
means that yqu and I pay more for treatmg infe¢tions
because stronger abntibiotics are usually more expensive.
For example, simple strep throat infections were treatable
with antibiotics that cost about three hundred shillings but -
due to increased resistance, a stronger antibiotic is now
needed which could cost over two thousand shillings.

The smart use of antibiotics is the key to controlling
spread of resistance.Each one has a role to play.

39. Why did the writer’s colleague go to the pharmacy?
- Altwasinoperation even in the late-mght
. B.To buy drugs '
C. Her son was unwell and she needed medicine
D. To getr medlcal care gt late-night -+ .
Why doesthe writer feel discontent thh the
pharmacist action in the first paragraph?
A. He’s irresponsible and unreat
B. He’s unprofessional and unetlucal
C. He sold the antibiotics -~ =
" D. He’s not qualified
41. According to the passage, it is. not right to
A. sell medicine to anyone '
B. buy medicine at late night
- C. buy medicine not prescribed by the doctor
~ D. sell or buy medicine aganist the counter
42.- The word ‘contravention’ can be replaced by

40.:

A. prescription B. violation
- C. diagnosis D. failure
43. From the phrase “........ did not ask what type of
condition.......... , ’means the pharmacist was
A. lazy B. careful
- C.courteous D. irresponsible

44.  Complete, Pharmacy is to pharmacist 4s chemist is to
A. chemist B. chemisty
C. chemistry D. chemicist

45. What makes the writer feel that the man recieved the
wrong dosage?

A. Because hed had a prescription
B. He wasin a hurry as it was late-night
C. He was served hastily in the pharmacy
. D. He was given medicine depending on the money
- hehad




46.

47.

48.

49.

50.

‘Which one of the followmg is falg

A. You should never buy medicine not prescnbed

B. Buying medicine through the counter is
encouraged

C. One should always tell the pharmacist where he’s
suffering from -

D. Antibiotics may become res1stant dueto
inadequate dose

\ Accordmg to the passage some infections are

becoming resistant. This means that;,

A. there’s no cure for bacterial infections

B. infections are treated by antibiotics

C. infections are overreacting towards powerful
drugs

D. Infectxons from bacterial aren’t respondmg to
_garden variety antibiotics '

What are antibiotics?

A. Infections caused by bacterial

" B. Drugs that cure diseases

C. Preventive powerful drugs for throat infections

D. Powerful drugs that fight mfectlons caused by
‘bacteria \

From the passage its true to say that

A. antibiotics are easily affordable

B. allantibiotics are equally effective

C. stronger antibiotics scarcely cost over two
thousand sln]]mgs

D. One pays over six times more to get stronger
antibiotics than he’d pay for normal antibiotics

The best title for the passage is;_.

A. Antibiotics

B. Bacterial infections

C.When antibiotics fail

D.cure through antibiotics
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How many groups of 100 are there in the total value

of digit 2 in'872503
- A. 60000
B. 600
C. 2000
Do 207 :
2. The sumoftwoconsecunvenumbersw 1491 What
is the smallest number?
A, 746 B. 1489
C.745 D. 1492
3. Whatisthe smallest number that should be subtracted
from 67589 to make it divible by 11? -
A 2132 "B. 5
C. 6 D. 23432 :
4. Whatis the smallest number when divided by 8,12
and 16 has 4 as the remainder.
A. 52 B. 76
C. 40 D. 36
5. Theareaof a square plot is 90% m?. What is its
e 36m . D 38m
6.  Whatisthe size of angle marked y intheﬁgu:ebelow?
A 40°
.B.70°
C30°
D.20°
7.  Afarmer harvested 15 .48 tonnes of maize. He then
packed the maize into 90 kg bags. How many bags
did he fill?
o A.426 B. 1726
€ 172 D. 17
L 8. Solve the equation 4(3n+6)=4(2n+8)
. A 5 B. 4
c. 3 D. 2
9 9. Theratio of boys to girlsina class of 35 is 3:4.How
I ‘ many girls are there in the class? '
| A 14 ' B. 15
} . c: 21 D. 20
10. Increase shs 3500 by 40%
| : A.1400 - B. 2100
-

S ID 8 MATHEMATICS

4

.

114,

C.4900 D. 5600
A bicycle wheel has a radius of 1 5%cm How many
- complete revolutions wﬂ] it take toeoveradxstance of
099km? .
A. 1000 'B. 1<
C. 2000 'D. "2
12. ' A minibus left Maleba at 2140h and took 8hrs
- 30minutes to reach Nairobi.At what time did it reach
Nairobi? ' '
. A.0610h B. 0220h
- C. 0300h D. 0410h
13.  Alumasi paid sh 840 for a shirt after getting a discount
for 20%. What was the marked price of the shirt.
"A. Sh210 B. Sh860
C. Sh1008 D. Sh1050
How many prime numbers are there between 11 and
41?
A 9 B, 1
C. 1 D. 5
15. Whatisthe value of 30—04x0 5+I 87
e SARCAels R S C RN NEEI 02 O
A 156 B. 230
16.  The table below shows the number of eggs a poultry
- farmer collected during one week.
Pavsofthel yo | e [ wep [muw [ri | sar [ sun
e |4 |6 |6 |e |6 |0 |«
What was the medium number of eggs collected?
A 42 B. 44
C. 43 D. 47
17. Whatisthe 98006845 rounded off to the nearest
millions?
A.98006800 B. 98000000
C. 10000000 D. 98040000
18. Whatis the perimeter of the glven reCtangle
) (6x-3)cm '
(3x+8)cm
' (4x+9)cm .
A. 92cm B. 118cm
C.« 124cm D. 32cm
19. What s the next number in the sequence?
1,8,27,64
A 125 B. 108
C. 132 D. 96




20.

21.

22

23.

24.

. 123,

26.

27,

28.

- below?

s i

Whatisx—=1 + 3x+7 = 3?2
2 8

A 3 B. 45
c. 21 D. 18
John was 8 years older than Koech 10 years ago. What
mllbeﬂzemmofthexrageml()ymunglﬂ(oech

is x yearsold now?
Al 2x+48 B. 2x+40
Cz 2x+20 D.2x#28

* Whatisthe smfaoemofﬂgmcylmder

e
o A. 98560cm?
B. 9504cm?
C. 11968 cm®
D. 19168 cm?

e/ .
Draw triangle XYZ where XY =3cm,YZ=5cmand
XYZ=120°Drop a perpendicular from Z to meet
XY atN extended. What is the measurement of ZN?
A. 55cm 4 B. 45cm
C. 43cm " D.  65cm
16 men can weed a farm in 27 days.3 boys cando the
work of 2 men.How much longer can 18 boys take to
weed the same farm?
A 36 "~ B. 12
C. 8 D. 9
What is the smeofﬂnesmallestanékmﬁeﬁgure

A 43 B. 34

c.” 13 D. 64

A rectangular plot measures 240m by 150m.How
many square plots of side 20m can be got from this
plot?

A 12 B.

C. 90 : D.

84
1800

A sales agent was paid sh 15000 as commission.This

was 2% of his sales.How much did the owner of the

goods remain with?
A. - sh720000 . B. sh.75000() _
C. sh.735000 D. sh.765000

What is the area of the shaded part in the ﬁgure
below? Take(“ -2_721

A. 221.76cm?
| ... B. WK1.12cm?
- C.745.92cm’
-D. 80.64cm?

A man borrowed sh 300,000 from a bank that paid
simple interest at the rate of 10% P.A ‘What is the
amount that he paid to the bank after 3 years?

29.

A. 390,000 B. 9,000
C..90,000 D. 3000,000
30. Whichone of the following is a terminating decimal
2 N
9 | -8
C. 5 | p.4
15
|431. Theaxeaoftnangledrawnbelowns 120cm? What is
- the measure of the longest side?
A. 2lem  24°m B 25cm
C. 26ecm D.  35cm

32. Abicycle wheelhasa diameter of 1.4m.How many
.sgevolutions does the wheel makg jp.cover a distance

A. 50 B. 143
C. 500 . D. 5000
33. Whatis the sum of faces and vertices of the solid
below? '
14
13
10
" 15
34, Whatis the perimeter of the ﬁgure below?
C < 70cm
’ fz°°"‘ B. 680cm
C 2040c;n _ ~.D.  1380cm
35. Whatxsthebuymgpnceofanarhclewhxch1ssoldfor
sh 120 at 25% profit?
A. sh95 . B. sh90
C. sh96 : D.. sh150



36.

37.

39.

40.

41,

42.

0.953 km

43,

How many 10cm long cubes can fit in the box below?

1m

A 960

1.2m B 960000

C. 1000 -

80cm D. 96

A train took Shrs to travel a distance of 150 km. What :

isits speed in m/s?
A 8Llmys
4

C. 80m/s

What i 1s the value of the fol]owmg"

1 o

a 2

40 B.2
C.3? D.72
Construct triangle FGN in which FG=6cm .GH=7cm
and FH=8cm Draw a circle whose circumfrence will
touch the vertices F,G and H.What is the diameter of

the circle ‘ :
A Alem: - ~B 83m ©
C. Sem- D. 6.5cm:

12 women can dug a farm in 9 days .How many
women are needed to finish the work in 6 days.
A 14 B. 18

C. 6 D. 15

A car covered 540 km in 6hrs. What is its speed in

m's :
A. 180m/s B. 324m/s

C. 9mss D. 25m/s
What is the perimeter of the figure in metres?

81 HM

B.
D.

0.8 /s
800m/s

1095m
11,395m -
C. 1130m
D. 395m
Makadi bought the following items from akiosk
-3kgofrice @sh42
-1kg ofsugar @ sh 68

- A—l—kg of tomatoes @ sh. 15

2
-3loaves of bread for sh. 90

A.
s200m B
124Dm

45.

46.

If she paid for the items using a sh. 500 note,how much

47.

48.

e, o K,
o

should Makadi add in order to get a balace of sh .200 |
A.  sh20 B. sh321.50

C. sh21.50 D. sh178.50

InﬂlcﬁgmebelowhnesJKandLMateparallel Line
NP is atransversal

S p/c > %
L 3 /f > M
Which of the statements below isnot true?

A’ b=g : B. ate=180°
C. gte=ard D.  etf=cHd
What is the value of - @b+ ¢—2b

_ atc

Whena=3,b=a+2,c=2a+1?

A 222 ' B.. 2

C. 62 D. 42

The graph below shows Njoroge’s journey from
Kisumu to Kabarak a dlstance of 300km.

. KABARAK
<. 3007
5 B T
_,_25‘3_#. 4 = // :
i | A i
200} 1V
g 7
£ 150}
8 Y
8 |/
3TV
50 ,/
/
i
KISUMU
S & S S
& & S Q§°° S
What was his average speed for the whole journey?
A.75km/h B. 60km/h
C.50km/h D. 100km/h

The scale of a map is 1:600,000.A road 60km longis
represented on a map. What length represents the road

- onthe map?
A. 6km B. 1000cm
C.10cm D. 60cm

What is the value of a in the ineuality below?
7.1>0.3a+2.3

A 16 B. 32



C. 94 D. 64
49.  The hire purchase price of aradio is ksh 8,700 .

Kamwaro paid a deposit ksh. 3280 and the balance

in 8 equal monthly installments. How much was each

A. sh676.50 B. sh660
C.” sh678 D. shé677.50
50. “Study the pattern below. Which one of the following
shapes can complete the pattern.
( 6855 2 ;
sS‘SSSQ QPP
.°°°..:::’:E’
0

ST
"'.»"II
771111




. GATUNDU SOUTH DISTRICT
ASSESSMENT TEST MID TERM 12015

STD 8 SCIENCE :
1. Study the diagram below - R D. Drinking dirty water -
. —— : 1 6. Whichone of the following order shows the 2nd,

4th and 6th planets from the sun r&spectxvely

A. Venus Jupiter Uranus

B. Uranus Jupiter Venus

C. Venus Mercury Uranus

D. Venus Mars Saturn e
7. Three of the folowing are eletrical appliances at home

EXCEPT?
A.Aniron
: 5 5 : ' B.Television
Which one is not a function of the part marked X? 6. Gasiodber
A. Protects the foetus from shock D. Radio
B. Allowsfrec tuming ~ - - A 8. Thefollowingusesheat EXCEPT?
5 C. Facilitates food transfer SRS AT » B. Drving -
# D. Prevents accidental injuries - _ C. nghnng Ak D. Warming
i_ 2. People who don’t know how to read can get sex

eduwnonmrﬂyﬁxmugh 9.  Study the experiment below and answer the

; ‘ uestions Salt
A. Posters . : ; q 7
B. Magazines Ty o - ,__._—-'

| - C. Bronchures : o T e H—e X
- D. Radios

e

Tiié sobuatice haned X is cailed

A. solution B. solute
 C. solvent" " D.'mixture

10. Which of the following is the best way of controlling

Which two blood vessels carrydeoxygenated blood" external parasites to a herd of 100 eows"

A Jand X

B.NandJ g ?I‘ffd“gcm
C.Nand X | ' C.Deworming
: D.Jand H : : D'm(mal grazing
4. The following are effects of drug abuse ~=" 1'11. " Force is measured in
' . (i) Addiction : B A. Kilograms
(i) Rape ' : B. Newtons
(iii) Lack of concentranon . ‘ C. Grammes
(iv) Truancy : §  D.Metres:
(v) Violence . ' ' 12. Namethe partof the ﬂower respecnvely Xw Y Z
Which one of them are all social effects? : 7
A (i) (iv)@iv) '
S B GG
o C. () v)(v)
D@
<7 5 Allmefoliowmgmmethodsofoonsemngwater
_ except?
A. Construction of dams "
o B. Re-using water
" 7w C. Recycling water




1 3,

14.

15.

16

17.

18.

19.

-A.78%

'A. Filament ,stigma ,sepal ,ovary

B. Ovary ,sepal filament, stigma
C. Stigma ,sepal ,ovary ,filament
~ D. sepal ,ovary ,filament ,stigma

Which ofthe followmg small ammals are correctly

grouped‘? :
A. Earthworm, hookworm, won‘n, roundworm

. B. Tick, Scorpion, spider, Mite. - -

C. Leeach, snails, slug, earthworm.
D. Housefly, centipede, weevil, bedbug

Below isa diagram repr&sentmg composmon ofair
0.03%

The gas that is likely to be used in germination is
represented by s _
B. 0.97% :

C.21% D. 0.03% ]
When we mix some sugar and water 10 makea -
solution, it can be made faster B except -
A. Using smaller sugar solid pamcles '

B. Stimingthe mixture =~

C. Cooling the water

D. Warming the water

When light bounggs_oﬁ' a ;gloothshmny sut:face, \’_fe

sayitis

A. Dispersed - B: Reflected

C. Reflacted D. transmitted
The accuracy of the liguid thermometer can be
improved by . :

A. Use a narrower tube _ N‘J

B. Uscathinbottle " 'lﬁ o
C. Use coloured water - g

D. Using a wide biro tube

The followmg is anamralsouroe of heat Whlch one sl

A. sun - B stars
C. candle D. moon
Study the diagram below

| Green | Non-green
Flowering . Nonflowering ~ Bocteria lMu§hr00tn
Grass - X
The part markeerepresents e
A. puffball B. pine
C. yeast

D. peas

20.

121

22.

23.

- BXC

25,

~ B. Nodefinate shape” S o

1 26.

27.

Kameamkl satonthse seesaw, Kamau

D. Halfdastanoe ﬁom the ﬁxlcrum

The following are characteristic of animal. Which one
is an amphibian?

(i) They lay eggs andhave scales &

(ii) Theyhave wings ~ = -

(iif) Breath through lungs

‘(iv) Live partly on land and water

(v) Have moist skin with no scales :

A. ()and (V) ,. . B.(v)and(iv) .
C. (iii)and (i)- D:(i)and(v) ’
Three of th following animals lay eggs EXCEPT

A. frog '

B. shark "

C.spiny ant eater

D. whale \

/

Simple tools includes a crowbar, a ladder bottle,

opener and
A. Car

. B. Fishingrod

C. See saw
D. Pulley
’Ihreeofthefoll

A. Loweryxelds
B. Transmits disease to crops

C. Trapping
D. Reduced quality produce.

Kamau put water in different bottles as shown
above

'He concluded that liquids have

A. Definate volume j

C. Definate size

- D. Definate Mass

Whichone of the following is the best explanation why ,

- metal pans are fitted with wooden handles

A. Inorder to serveys well

B. The wood serves as an insulator of heat

C. To make the pan strong '

D. Metals are good conductors of heat

Plants make their own food during the process of




s e e

g 5o B > - < =

photosynthesis they are called **
A. primary.consumers
B. producers =~

- C. decomposers

' D. secondary consumers - '

28. Levers have effort, load and fulcrurn in d1fferent v
positions. hlﬂteclawhammermldthecmwbarthe :
fulcrumis :

A Aﬁm’the’load andeffort

‘B 'Beéfore effort and load

C Between the load and effort

D. They are in the same level

29. Whichoneisnotagas?

- A Arr B. Smoke A
- C. Steam “Dllees
30. The diagram below shows a convection box

MR )

X 7 v V w
Which position should we place a burning candle?
ey W 5, 5 gt oedBe ‘W g SR
R s R T

The flow of electricity in a circuit is known as
A. Anelectric current B. Aswitch
C. Lightining D. Circuit wire -

32.  Which component of the environment is found i inall

the other components of the environment?
A. Air

, B. Water
C. Sail

D. Plants

| 33, Nellyhadthefollovwngmgnsandsymptoms

(i) Violent diarrhoea with mucus

(ii) Severe abdominal pains

(iit) Vomiting

Which disease was Nelly suffering from?
A. Marasmus B. Typhoid
C. Bilharzia D. Cholera

34.  Whichone of the following is true about the type of

teethshownbelow = . 4

»
-
I A . 2 .

A. Theyare 12 inanadult
B. They are two on the left lower jaw
C. They are part of decidous set
D. They areused for tearing and grinding
35. The non-hvmg partof the environment consists of

36.

138.
39.

40.

41.

42

43.

~ A. slashing :
* C. Digging them out
. Liquids thatmix to form ong layerare smd to be

B. Liver and duodenum

- to take another test? Rty

-+ CTetanus .
| 44.

A. Water, air and soil
B. Plants, animals and air

* C. Soil, water and plants

D. Animals, soil and air

The best way of controlling weeds is by

' B. uprooting -

D. using chemicals

A. miscibleliquids . -

B. Immiscible liquids -

C. solventliquids =~

D. soluteliquids ;

Cloudsare grouped accordmg to the followmg

_except?

ot

o™

A. appearance ' L
B. size T T o
C. shape .
D. height ‘ :
Which one of the following pairs shows support

~ organs in the digestive system?

A. Gullet and stomach

C. Colonandileum « ; | 5
D. Pancreas and liver - e ‘ :
During window stage, a person nnymmgatwe when
he/she is positive. After how long are you supposed

A. 3 weeks B 6 weeks
~ C.3months D. 6 months
' The period between fertilisation and giving birth is I :
* knownas - / £
A. Conception’ '
-~ B. Gestation -
C. Ovualtion
-D. Puberty - e
- Which one of the following is not anexcretory
- organ? '
“A.Lungs “B Kndneys
g Skin * D. Rectum

The following are signs and symptoms of a certain
disease?

(1) Vomiting

. (it) Paininjoints

(iii) Shivering and shakmg
(iv) headache

- The disease deschbed above is

A. Commoncold B. Malaria
. D.TB

Std4 pupxls carried out the experiment below

Air bubbles
Water




45,7

46.

b 4T

The pupils were investigating?
A. Airin water ; '
B. Soil dissolving in water

C. Airbubblesin soil
D. Airinthe soil

by

\ ; A7
\

Wh]Ch layer of compost heap feed the decomposers
when preparing compost manure?

- Airis a mixture ofthefollowmggas&stogen; o

Oxygen, Carbondioxide and inert gases -

.Whnchpanofmrwusedmpcmervauonothmdsxe :
- soft drinks ; ; : |

A. Carbondioxide

B. Nitrogen

D.Oxygn .
A B

The soil labelled A has the follomngchamctenstlc
except

A. Large air partxcles

B. Lowest capillarity.

C. Highest capillarity

D. Best drainage

Rain drops .

The type of erosion shown above can be controlled

49.

50.

B. Using gabions _ o e

C Cmmnploughing

D. Terraces
Whlchofﬂmbodyﬂutdscanconwnmvmus
A.Blood, tears,urine, . _

B. Swwt,lmne,Vasmalseueuons

C. Saliva, semen, tears

D. Blood,Vligmaldlsdmsemm :

Which oneofﬁnefollowmgwaﬁepmdwtsnsmved

byal]excretoxymgans"
A. Minerals

B. Carbon dioxide -
C.Urea :
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